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Case 1 - Puzzle 1
Solution:
“The one with black hair is innocent”
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Case 1 - Puzzle 2
Solution:
“I think you are cute we should get coffee some time, Minni”

Minni wrote this message. This means she didn’t have time to steal the movie as
well and sneak into the backroom and slip this note into the locker.



Case 1 - Puzzle 3
Solution:

1 + 3 + 4 + 8 = 16

16 - 10 = 6
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Case 1 - Final
Solution:
Leo Frost

Neal Morgan 

Minni Barton

Leo Frost

Deborah Curry

Innocent Guilty



Case 2 - Puzzle 1
Solution:
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Pearl NathanielAutumn Haider

The person closest to the screen(Haider)
The person in the back(Autumn)
And the person in the middle row(Peral)
All got up and left at some point. 
But Nathaniel didn’t, so he is innocent.



Case 2 - Puzzle 2
Solution:
“Do you know who is lame and stupid? Pearl Nate and Haider that is who.”

Pearl, Nate, and Haider would talk about themselves like this, so that note must
have been written by Autumn, which means she isn’t the one who messed with
the popcorn and is therefore innocent of that crime. 
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Case 2 - Puzzle 3

You will find the path leads you to the initials PKF.
Which match Pearl’s initials, so you know she
didn’t mess with the popcorn and is innocent. 



Case 2 - Final
Solution:
Haider

Haider 

Pearl

Nathaniel

Autumn

Innocent Guilty


